## 9-1 day 4 Alternating Series

#### Learning Objectives:

I can use the alternating series test to determine whether an infinite alternating series converges or diverges

I can use the alternating series remainder to approximate the sum of an alternating series

I can classify an convergent alternating series as absolutely or conditionally convergent









2.) 
$$\sum_{n=1}^{\infty} \frac{(-1)^{n+1}(n+1)}{n} = \sum_{n=1}^{\infty} (-1)^{n+1} \frac{(n+1)}{n} \qquad \text{for erections}$$
$$2 + \frac{-3}{3} + \frac{4}{3} + \frac{-5}{4} + \frac{6}{5} + \cdots$$
$$\lim_{n \to \infty} \frac{n+1}{n} = \frac{\infty}{\infty}$$
$$\lim_{n \to \infty} \frac{n+1}{n} = \frac{\infty}{n} \neq 0$$

#### Approximating an Infinite Alternating Series with a Partial Sum

In most cases, we are not able to find out the actual sum of an infinite series. We can determine whether or not a series converges but we cannot determine what it converges to. For a convergent alternating series, the partial sum  $S_N$  can use a useful approximation for the sum S of a the series. The error involved is the remainder  $R_N$ =  $S - S_N$ . Before we can use an approximation, we need to determine "how good" that approximation is.





If a convergent alternating series satisfies the condition  $a_{n+1} < a_n$ , then the absolute value of the remainder  $R_N$  involved in approximating the sum S by  $S_N$  is no more than the 1<sup>st</sup> neglected term

$$\left|R_{N}\right| = \left|S - S_{N}\right| \le a_{n+1}$$



Ex3. 
$$\sum_{n=1}^{m} (-1)^{n-1} \left( \frac{1}{n!} \right)$$
  
a.) Approximate the sum of the series by its first 8 terms.  
b.) Find the error.  
b.) How many terms are needed to have an error < .008?



This series has both + and – terms but it is not really an alternating series because the signs of the terms do not alternate. How would we determine if it converges or diverges then?





Ex4. Determine if each alternating series is convergent or divergent. Classify any convergent series as absolute or conditional.

1.) 
$$\sum_{n=1}^{\infty} (-1)^n \frac{n!}{2^n}$$

() 
$$S_{n=1}^{\infty} (-1)^{n} \cdot \frac{n!}{2n}$$
  
 $n=1$   
 $-\frac{1}{2} + \frac{1}{2} + -\frac{3}{4} + \frac{3}{2}$   
 $\lim_{n \to \infty} \frac{n!}{2n} \neq 0$   
 $n \to \infty = 2^{n} \neq 0$   
diverges

2.)  $\sum_{n=1}^{\infty} \frac{(-1)^n}{\sqrt{n}}$  $\frac{2}{\sqrt{2}} = \frac{\sqrt{2}}{\sqrt{2}} =$ 



# **Homework**

### **Alternating Series worksheet**